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(2) 5 (=) 9 (S) Bl cld (o8 g (Claraa) 3 g8 -2
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General Forms Al dopall -1
Canonical Forms i il dagall -2
Standard Forms Al dl) dapal) -3

General Forms sl dauall -; Y4l

Al S ks Lualy

Max Z = ¢1X; + CXo+ . . .. .
. —
OR MinZ=ciX;+CX+.... —=—

aX;+aX,+... 2,55 b, S.T.

anx;+an+1x +....
X1, X2, ... 20
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Ex1: Write the following Linear Program by General Form .
Aalad) dasall cua AU ddadl) daa ) IS

Max Z=4X;+6Xx,

s.t.
3X;,+8X, <10
6 X, +10 X, =20
X;—10 X, > 80
X1, Xz 20
: Jal)
LaS i Allcal) 03¢t dalad) ddsall (8 oda 1A Allecal) 0da Ao (adali dalal) ddsall &) jraa 0 A3adle
¢ P

Max Z=4X;+6X,
S.T. 3X;+8X, <10

6X;+10X, =10
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Max Z=Ci1X1,CXp4...

S.T.
dAiXp+dXo 4. .. < b1
a.3X1+a4X4+. 5 < bz
an,;.an 1 X.... <bn

X1 % ,... 20

=AY daall &) jaaa
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Ex1: Write the following Linear Programing_by Canonical Form.

Max Z=6x;+5x,

s.t.
X, + 8%, 210
2x; + 3x, =5
6 X, 7x, <15



X1 UNRESTRICTED

XZZO
Max Z= 6(yi-V:) +5x; s
S.T. -(y.-y2)-8x, <-10
2(y1-y2)+3x; <5

-2(y1-y2)-3x; <-5
6(yi-Y2) +7x2 =15
Y1,Y2,X2 <0

- al3aMa

BN aBa 8 X1 OV (yp,y2 ) Crustall X1 O8 pangrdll oS -1

() e @d s Y (<) Ao @l b N oyl a1x 6V Al Gl 2
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Max
dAiXp+dXo 4. .. = b1
adszXy+dgXs . .. = bz

anxX;,an, 1 X;.... <bn
X1,X2 , ... 20
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Ex1: Write the following Linear Programing by Standard Form.

Max Z= 10x,.,15x,

S.T. X1 + 5% =15
3x, + 8x, 220
5x; + 9%, <30
X1 unresected
X, 20
Max Z= 10(y;—-vy,)+15x,
S.T. (y1-y2) + 5x;

3(Y1-Y2)+8 X2_11

11

=15
=20



5(y1—y2)+9X2 +Sl =30
Y1,Y2,X2 20

Sl uadll
dubadl) daa ) Jilue dSlua
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il gadiall Baa gl) Bas gl oy [ 48K A C,,,....,C3,C,Co
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cl.ﬁ\ Glddaa o
Gy JSy Alall Liiaf 3 DA (e 3 9481 038 Slagy) aly g 3SR
S ol yiiall Jay 5 AN Ailaial) cilBMad) a3 g8l ASlLua oy Ludaly
din X1+aZX2+....+alanSb1
dy; X1+322X2+....+aZan=b1
ds3; X1+332X2+....+angan3
xn!xz,x1 <l yiall b, daaal) dagd cr aldicy La Jldia A @in,a,,a O S
(<) ABladl cld 3 galt Laila ¢Sl g Adbosall (pa W3t Ay g i dagea >, =, < Cilaaaal) 3 LA b 138
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Max Z=C,X;+C,X,+....+C X,
Or Min Z=C,X;+C,X,+....+C X,
S.T
A Xi+ap X+ 42 X S

= b,

2

X1,X2, X 2 0 usSliand) 4d ghinay oandi o2a
Max Z=C;X;+C,X,+....+4C X,
Or Min
S.T

Am1 X1+am Xo+....+@mn X,
=b,,
>
X1, Xz Xn20
Aa ) A ga (A O pital) dad Laily i (S 881G XXy, Xp 2 0 28N ooy Cua
Abdl) das ) ASlua (b
Ex1: Iraq co. produces two products A,B by using two types of Raw materials M1,M2
table shows some information Formulate the problem by LP model .

Usage of raw material to produce one unit Raw
Material of product material
Product B Product A Available
M1 6 4 24 units

14



M2 1 2 6 units
Profit per
unit 55 >4
: Jo¥) Jual)

M2, M1 4l 931 3 gall (e (e g aladiady didg A, B Cilailall (ha ¢ g5 L a0l Lelial) (31 o) AS i
Al (e il glaall lary g g (AL J gand)
A Sl (a Giaa g (a SS) Z L) (Say Y 4d) Lale Adadl) daa yul) aladiiady Alcal) AeLua 1 pihaal)

Ziall (e Banf g Bas g Z LY Balall Glaa g 230 s gl aas
salall — — 30 5 sial
B & siiadl A z sl 5 3Ll
M1 salall 6 4 24
M2 salall 1 2 6
daa) gll daa o) =y $5 4
s Jad)

Xi= A 3alal) (e dpiial) cilaa gl 23e Cl pdiall d8lua (1
X, = B sakall (e daiial) ciaa gl aae

Max Z = 5X, + 4X,

15

ciagll Ay dslua (2
2548l d8lua (3

AdgY) Agall 358 o
6X1 +4X, < 24

X;+2X,56

A 33l Gl:d\ A o

X152

bl axe 298 o

X1, X,20

Then Max Z = 5X; + 4X,
S.T6X;+4X,<2
Xi+2X, £6

X; £2



X,X,20
Ex2: Accompany produces 3 product by using 3 machines m1,m2,m3 . time available for
produce these product and profit for each unite of product are shown in the following

table Formulate this Problem by General .

Time required to produce each product (hours) Time
Machine available

Product 1 Product 2 Product 3 R IrE

M1 6 - 2 400

M2 4 - 500

M3 3 4 600

Profit for each unit
of Profit product ?5 >4 >7
. s:’lﬂ\ SEal)

othan daa g GGSY ejﬁﬂ «1\3\93\ m3,m2,m1 (slsa v e\.\a.u.n” L.H‘JJ..AJ Gladia asnG é.ua.\ ":LSJ&
c AN Jgaad) A Ao g claiiall o34 (e Baa) gl Baa gl a9 B gall i gl) g Cilaiiall
 Ahadl) dace ) aladialy Alaadl Aelua 1 qslhaal)

AL (Au) qiiall (pa Banlg 32y LY M) s i
3 g 2 gl 1 g hgial
v ° _ 2 400
Ve 2 - 500
Ve 3 4 600
Bas) gl Bas gl g $5 5 e

: Jad)

Xi= 1 gilal) ope @il Al Glaa gl aie @) patiall d8bua (1
x2=z@:ul\g.a€_ﬁ:g:m Glaa gl) dae
x3=3€£dd\¢,.e@ﬁg:m Glaa gl) dae

cisgll Al delua (2
Claaall lua (3

6X; +0X, + 2X, < 400

4X, +5X,+ 0X3< 500

Max Z =5X,+ 4X,+ 7X;
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centers.

the following table shows some information .

3X;+6X,+ 4X3< 600

S.T 6X;+2X3 <400

4X, +5X,< 500

3X;+6X,+ 4X3< 600
X1,X2,X320

Ex3: Accompany distributes its product from three production branches to two sales

Then Max Z = 5X; + 4X,+ 7X3

Sales Center 1 | Sales Center2 | Supply
production branch 1 $3 $2 100 units
production branch 2 $4 $5 150 units
production branch 3 $6 $7 80 units

Demand 180 units 180 units

- GullEl) SUial)

DAY £ g Al Laliny) ABUal) ¢ all (S pa B Lt Aagli p g 8 DU L daiaal) Lgilatiia a5t o 685 A8 4
IS a8 Alafiad) A8 Cps 8 Ban g 180 Jo¥) JSpall Alain) 48Ul ¢ 5239 100,150,80 (A sill Ao

LA Jsaadl LB daid ga aaall 381 e ) £ gaN cpa Baa) gl) Bas gl JAM) ASIS ¢ Bas g 150 (AU aud)
: o & ¢
Al A jully Alsal) A8 lna 1 sllaal)

1 Al g al
2 ALY g il
3 Al g il

1 S 2 g2l S e

$3 82
$4 $5
$6 s7

: Jad)

Xi= 1 380l 11 £ AN (a JAE Al Claagll aie &l i) d8Lua (1
Xy= 2 84l (A1 2 & Al e JA Al Slaagl) aae
X3=3 JSall A1 3 & Al e JA Al Slaagl) aae
Xa= 4 S A4 g 8l e JAI Al claagl) axe
Xs=5 Sl A 5 g 8l Cpe JAI Al claagl) axe
Xe=6 Sl A6 £ A (e Jal Al Claa gl) aae
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Min Z = 3X; + 2X, + 4X3 + 5X,+ 6Xs + 7Xs  <iagdl Al dslua (1
Claaall lua (2

X;+ X, £100

X3+ X; <150

X5+ X <80

X, + X3+ X5 < 180

X5+ X3+ Xg <150

Min Z = 3X; + 2X,+ 4X;3 + 5X,+ 6X5 + 7X;
S.T

X;+ X, £100

X3+ X, <150

X5+ Xs <80

X;+ X3+ X5 <180

X5+ X3+ Xg <150

X1,X2,X3,X4,X5,Xg 2 0
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B (X, , X,) ¢t (et L) Audadl) Aaall Jlal) Ja 8 48 shal) o34 adie ; Aaadle
48y jhal) oda g g ALl PR

Solve the following linear programming problem by Graphical method

Max Z=4x,+5x,
S.T.
3X;+2X, <6... 1
8X,.4X, =8 . 2l
X; X, 20...

3581 et Uiy g 3 gal) B L pladly eltd g 4 gludia c e ) 35480 43S Jgad -1

3X,.2X,  =6... 1
8X1.+4X; =8... 2 4l

Saxl (e phagilly Al g Aalaa J< il cullaty Aalea o) an d Gua 02 c¥ M2l ay =2
Xy 2y Aa =X, (8 pagd dld agg X, aadyg

3X;.2X; =6... 1
X;=0m=) 0+2X,=6

2X,=6

X, =6/2=3

(0 ¢ 3) (A AV Akiil) o
X,=0==) 3X,+0=6

3X1=6
X]_ =6/2 =2
_(z‘o)@@&\wt <&
8X; .+ 4X; =8... 2

X;=0m) 4X,=8 =) X,=2 (0,2)
X;=0m=) 8X,=8 = X,;=1 (1,0)

20
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LY alaall Jaladty géxl , X2 &ﬂ\ d X, X S ﬁuﬁ Ay -4BaMa

X2
. i
2
1
i
0 1 2 3 4

Gl Sl g a8 JSt Jgaall olai) aaad -4
(0) Jua¥) Al olaily J sl slai¥) (8 (<) (s sbeus o) JBI 28N B L&) CilS 1Y @
LaS Jual) 4dalil (5 AY) dgad slaily Jsalall olai) (8 (2) s sbow 9) uS) A8l B L&) S 1Y) o
Al am ) (A il ga g2

JAI.ASJ@\ﬁ&ﬁ@gﬂgb{gﬁﬂQﬁSJ}M\M\@JJﬂ\MQM -5
el (B s

X1
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B raga LSy cingl) Al Aiaa B X, , Xy o G gas g M) o A JSI X, Xy o 325 -6

A J gaad)
A1 X1 X, Z= 4X;45X;
A 0 2 10
B 0 3 15 === Max
C 2 0 8
D 1 0 4
max & Al
Z3dad o) e mily AN A b Akl
58 JiaY) Jal) o
X1=0
X2=3
Z =15
Z\.haﬂ-n

S = X dad X, saall e Akl 6] 1
M:szgﬁleﬂ\&swgi

L2 JAad B e gl Al A JiaY) Jadl Whe iy AN Al ol Min Aal cuils 1y -2
G55 QS 135 Xy Lsaal) S Lagas (s 2N (L8 1S X1 e o (g gian Al (IS 1Y 3
Al ALiaY) g X1 seaall Ljisa o X, sgna o Lagas (gSam 281 (U Jah X, paitia o

.l il g
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Solve the following linear programming by Graphical method

Max Z=8x,+6Xx,

S.T.

10X; + 15X,

10X; + 15X,

IV IN IA
N W

o

10X, . 15X,
X:=0 mmmpX,=2
X,=0 mmmpX,=3

(0,2)
(3,0)

(2,0)

;

3

() L8l ol

Cilad) JUial) B il ghadl) uen g ()l AfkaTa 203 GlN3S g 08 (S J gilall olay) dan g ciYalaal) ana i

sl Ahaia

dJanil) X1 X, Z = 8X,+6X;
A 0 0 0
B 0 2 12
(o 2 2/3 20
D 2 0 16

Jall Jgan <

_ Max



D Ay ARy ally ALadil) o (B adalEE Al calaal) Jag dlldg € Adall B X, , X, Slaw) A jAkaN

10X;.,15X,=30
X, =2

) A8 B e (el oy Jha=X,

10x 2 +15X2 =30

20 +15X2 =30-20

15X2 =10
10
X, =0 = 2/3
(2 <2/3) A C AR A X,, X; pb O &
JiaY) Jal) o

X1=2

Xz =2/3
Z =20

24



Solve the following linear programming by Graphical method

Min Z=3x;.2x,

S.T.

) sl

PR

6X,.3X, <18
Xz <2
X, X2 20

6X1+3X; =18 1
X2 = 2
6X1+3Xz =18 ... 1

X1=0 mmm) X,=6 (0,6)
X;=0 mmm) X;=3 (3,0)

X1=2 (2,0)

Ceal) ) ghal) Caea, g (5280 Alaia aaa SIS g a8 < J gilall Lo iy cialaall an yix

sl el
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Jadl Jgaa
ALty X, X, Z= 3X,+2X,
B 0 6 12
C 2 2 10
6X;.3X, =18 _eNalaal) Jay € Akl
X, =2
2= X, 5 ol @
6X;+3x2 =18
6X,+6 =18
6X, =18-6
6X, =12
X, =2
(2¢2) A CAkE o
Min = & 41
JiaY) Jadl A g Adaki
X;=0 5& Jall
X,=2
Z=4
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LAl ALY A Las cd gl JLatid) Jal (e lld g il ghdll (amy JLaid) (S cddiadie

solve the following linear programming by graphical method

Max Z=4X;+5X,

S.T. 3X1 + 2X; <6
2X; + 8X, <8
X1 , X3 20

- Jadl

A g8l Jalas
3X;+2X, =6 (2,3)

2X;+8X, =8 (4,1)
LiS X, dad 23y s = Xy 08 Gast pig Xy And s i = X, 0F Casmi JLaiidl ik
ode§ Jaladl) Uaa g

| Jssall Ahaia saady ane
3
2
2
Js:l dikaia >
g lgy \4\ X1
3 gaall olady
da83Y) Z = 4X;+5X;
A o o 0
B 0 1 5
C 1.8 0.6 9.4 G\,
D 2 0 4

27



3X1 + ZXZ =6
3X1+ 2X, =6

12X, 4 8X, =24

£2[£8X, =18
ok
10, = 1§ x=1

A Alslaal) B Xy o il

2x2 18x, =8
32 10

_+8X2 =8
10

3.2 +8X, =8
8X; =8-3.2
8X; =4.8

4.8
Xz =?=0.6
Z =94

28

Orfilalaal) (o Laand € Akks
(Y Al an )

(1.2c0.6)31(%‘o_6)@c1\.h§3 &

X1= 1.2
X;=0.6

s JiaY) Jadl o



oaAl) Juadll
Simplex Method (xSl 43 4k
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;\.haﬂ-é

G ol 9 B (S) Ao il (iasaall) gl LS 1)) s B A, ) oda aalDu e
DS gl Cukia G piall 23 @

Solve the Following Linear Programming Problem by Simplex method .

, olead) Dy o pladily ) ) e ) Allsa Ja
max Z=5X; +X;
S.T. 4X;+6X, £12
X;+X, <20
Xi,X;, 20

: Jadl <l ghad

A el dgad) Ji 5 4 glacia sl ) Lgds sl cilasaal) I S BaSI ) <l i ddL) aly -]
s pmal) Agadl ) gl
max Z-5X;-X,=0
S.T. 4X, +6X, +S, =12
X;+X, +S, =20
X1, X; 20
ousliacad) Jgaa dgle 3lhay Jgaa B Alluall aalats &5y 22

LY e e e
A
[ |

_ X; | X, | S, |S

Ti z|5|-1[0]o]o &

3 s;/a|6|1]0]12 } =

5 S;]1|1|o0|1]20 T %

g dailiad Gag AN Jgaall Jotal) s o (glhy Cua

Al il piall o @

Sl=12
S,=20

@m‘xtatw\wmﬁjﬁ.\dM:xz‘xleg.g‘sz:zhg °
&Y\Jﬂ\@cd@o\uﬁ\dﬂ\w*wmw\hui&‘g
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S g A ga 7 ciua B adl) 8IS o< Lasie JiaY) Jadl o Juaad max ciagdl A D b

S g Al 7 diia A adll) 8IS ¢ < Latie JiaY) Jad) e Juand min call A D S 2

\ v

5 f}\’( ~
1 XZ Sl SZ

>~ 2|5[aloflo]o /1a=3 -

) Si| 4| 6| 1] 0120 20/1=20
f>\ Sl \1 | 0] 1]20

2

) oy ode) (usliacd) Jgaa 2 -1
Al diia & Ldlu dad ) dlalaa oY X, itial) Alaial) 0da g Jadly JAI pial) LG8 o
max sy chagd)

sl dgaally dle (lhay X, Allusal) 038 i g8 g JAIA) il dges -
20 ¢ 12 (A g Jal) 39a ad el 4y Cua (S, 9 §p L) Jadl e @A) el 223 o
L iy A ga Jad) (e oAy @ sial) () Gun 1 ¢ 4 (A Allg g usaal) dgard) ad
gosnall dgant) ad to Jall 3 gae ad dand Juala
3 o Al g dandll Juala J8L ¢y 38 (Y S, o Allewall o & Jad) (e JAY pstal) -
L allian Jga 0985 -2

Xy Sy el o Jlhal) (8GRI Jially @AY el s -
4 ) saal) dagll) o dlacdy i g paa 590 Ciuay (5 gaal) dinall Jadiad -a

Slipead) 1 G daaal) 5 5 gaal) Cliall
(4610 12)/4
1 6/4 1/4 0 3 =gl X
@’YISJL.UM\MLJM-C
(et il ) = paall dial)
ool ciuall 8 3 ga gall andlll Ciall Jalaa) * (Laad) o) saall Ciall) +
SJW\!\M(HE\
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})\ ))\ Jpead) 13 maal) Giagl) Ala Lia

f>\ A
)}\&) S>° \
’ (-5 -1 0 00)

5) (1 6/4 1/4 0 3) +

b Al i) Caal) Jalaa

oS g HJ&]\ Lﬁ)};ad\ Caall
5Ly

v

((5*1-5)<(5*6/4-1)(5*1/4+0):(5*0+0)(5*3-0))
(0:30/4-1:5/4:0 « 15)
(0 < 30-4/4 < 5/4 < 0 «15)
(0<26/4:5/40«15)

el 133 D Y i

(1 1 0 1 20)
(-1) (1 6/4 1/4 0 3) +

0 « -6/4+1 < -1/4+0 « 0+1 « -3+20
(0¢-2/4¢-1/4¢1¢17)
aa Jgan ol -3

X2 | X, | S1|S,
Z| 0 |26/4|5/4| 0 |15
X, 1|6/4|1/4|0]3
S;| 0 |-2/4]|-1/4| 1 |17
Ol Aalla agd el Ciagdl A3 Ciua b cails 13) Ala 8 ALl Jad) aeal <) ghad Bale) aly
min A1 g A ga ?95 Gl ciagl) ANy Ciia Hﬁ Cuils 1Y) Al géj max Al
max iagdl s 0l g Jiua g) i ga ciagd) Alla & Cdlalaall gf addl) 43S o Jgand) 138 e BaadlS
Jia¥) Jadl ) Ulagi o
JiaYl Jad) o
X;=3
X;=0
Z=15
Al @) pial) e Ba g ga s Y e = X, da ; Aiad
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Solve the Following LP Problem by Simplex method

max Z = 2X; + 4X,
S.T. 4X;+6X, <24
X; <8
Xi,X; 20

max Z-2X,-4X,=0
S.T. 4X;+6X;+S5,=24
X;+S5,=8
Xi,X2,81,S, 20

X | X |s: s,
z|2|4|o0]o]o
s;[al 6| 11024
S:f1[o[o0o]1]s

Xi | X2 |S1 |S:

Z|2/3] 0 |[4/l6| 0 |16

s;.|2/3] 1 |1/6| 0 | 4
S| 1 0 0118

(2 -4 0 00)
(4)(2/3 1 1/6 0 4)

2/3 0 4/6 016

maxghza\ﬁ\gb)&a/:\.gyghZu.imgéﬂﬂ.ala.d\;éls oo
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J:\-A\J\ Jadl o
X;:=0
X, =4
Z=16



Solve the Following LP Problem by Simplex method

min Z=5X;+ 10X,

S.T. 2X;+6X, <12

X, £7

X1, X, 20

:dal

minZ-5X;+10X,=0
S.T. 2X;+6X,+S;=12
X;+S,=7
X:,%X,8:,S 20

X1 X2 Sl SZ
z|-5]10f[ 0 oo
s;/ 2] 6] 1]07]12
S;J]o[1]o]1]7

X, | X2 | s: |s.
z|-25i3| o |-10/6] 0 |-20
X, | 113 [ 1] 16| o0
S;,[-13[ o0 |-16[1]5

N

(510 0 0 0)
(-10) (1/3 1 1/6 0 2)

-25/3 0 -10/6 0 -20
S, da

010 17)
(-1)(1/3 1 1/6 0 2)

-1/3 0 -1/6 1 5

min & Z A oy sha [ Al P Z Dlalaa PETTRRN

34

JiaY) Jad) o
X:=0
X,=2

Z=-20



Solve the Following Linear programming Problem by Simplex method

min Z-= X1 - 4X2
S.T. 3X;+4X, <12

X, €6
X:,X, 20
uSland) 48y gha aladiuly 4ddd) dgea ) Jilawa Jad i gladld) i 2l 1Aladla

oS
min <agd) dla <

JiaY) Jal) A Gaad o ) ) phadl) udly patead g A g 5L St 3 Jaldly JASal) pddal) AT o
min A Y Jda ) Adlu ciagl) Ay Ciua B (cblaleall) adl) 4318 () 4S5 Ladic

da)
min Z'X1+ 4X2=0

S.T. 3X1+ 4X2+ Sl= 12
X2+Sz=6
XIIXZISIISZ 20

X | X, | S |S,

s,/ 3|4 f[1]012

S;J]1]0|o0]1]6

X: | X | s |[s ikl gal

1 2 1 2 X1=0

z|-16/4a] 0| 1 | 0 [-12 <3
X, | 34| 1| 1aflo]3 2-
;3 1 |o| o |1]6 £=-12

Laal) diagl) A Cia

((14 0 00)
(-4) (3/4 1 1/4 0 3) +

1I

(-4*3/4-1) « (-4*1+4) « (-4*1/4+0) « O (-4*3+0)
-12-4/4 0 1 0 -12
-16/4 0 1 0 -12
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L Al da

(1 00 16)
(0)(3/4 1 1/4 0 3)

(1 0o 0 16) LY At ¥ adll)
Aua ¥ Ay g paa
Solve the Following Linear programming Problem by Simplex method

max Z=5X;+3X,
S.T. 6X;+6X, <12
X, =4
X, X, 20

max Z-5X;-3X,=0
S.T. 6X1 + 6X2 + Sl =12
X]_ + Sz =4

Xi| X, |S1 |S:

B 12 4/1=4

(%)
[
(o))
(=)}
[y
o

X, 1 1 1/6 | 0 | 2
S;| O -1|-1/6 | 1 2

0
(51 1 1/6 0

0 25/6 010
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100
11

14
1/6 0 2

0 -1-161 2

JiaY) Jad)
X,=2
X,=0
2=10

Solve the following linear programming problem by simplex method

max <Z=2X;+4X,
S.T. 8X;+2X, <16
X +X, £20
X:1,X; 20

max Z-2X; -4X,=0
S.T. 8X1 + ZXZ + 51 =16
X]_ + Xz + Sz =20

s,/ 8| 2] 1]0]16
S;]1[1]o0o]1]20

S| -3 0 |-1/8 (1|12
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16/2=38
20/1= 20

2 4000
(44 1180 8
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w
N

38

11 0 120
((1)4 1 1/80 8

-3 0-1/81 12

JiaY Jad)
X1=0
X2=8
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Adadl) daa pll JiaY) Jadl oy 5 Sl M 4Gy Jh

i ot g) (=) A cfd clasae Alwal) cilaat 13) Ula B 48y jhall 034 andiicd 3 Adadla
(2) sl

Jia (2) oo ) S ABe ld Ciladaa o (g giad Alluia LAl ¢ 4S5 Ladie

3X;+X,210
4 gladia ABMe i daaall Jra i Al L (SHlg Al) e 7 kel Ll L b gl
3X1+X2—L1= 10

SAka (g9beai Xp, X, &) 2R dua AN Jadl Jgaa By pushiacal) A8yl aladin die g )38
0+0-L,=10
-L=10
L,--10
Slbal e Al oy Alad) oda B 3 ¢ g ga @l el 09 ) quag A (Saa i Mg
DAl JSIL sl ¢ sam 1A AISEA) 038 (pa (alASU A G Ad Ja g
3X1 + Xz_ I.1 + A1= 10
(=) Ble cid a8 Lal A1) Ula A

5X.+ 6X,=10
Sha (g gt Xy, Xy Add A Jad) Jgand) qua
aaaal) 13gd elikual pitie d8la) oy 1M (Saa & 1389 10=0 0+0=10
5X;+6X,+2=10
@l it Ao (g gl Al g Jilesall 028 Jia Jad (usliacal) 48y hal Al 48 sk slay) cullaly 1A
c S M A&k Gkl ol (e g delikual
OSan Ay Q) Siiny Le Jla daly M 8 Gl sy M ARk aladi) sie ; diadla
Jadl Jgda B M AN 7 dagd il 13 Ala A ) Qi g Jial Ja Adlsall (oY 28 Al
dad o)) g 1A B S M ANV JBY e o 90 M1 ANV Aad cld Al ) purtial) aal o) o) JEaY)
(Gt My 31855 Y g 1aa 3 S M
LSl M ALk aladioly AN ddadl) Aava sal) Adbasal JiaY) o) 22 9) 1 Jlia
MinZ=4X;+ X,
S.T
3X;+X,=3
4X,+3X,2 6
X;+2X,<4
X1,X,20
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s &) ghadl)
= ABdal) uld 28l WA, slihal e dila) oy L1
> ABal) <) 38l (e |y Al e gk A, Slbkual e dila) a2
< ABdlad) cld 38N IS, S elhal e L) a3y (3
A, Ap Sl piiall 7 kg min §.58 ciagd) ANl M a3 (A, A ) @il 4La) a3y 4
max & s gl QA M Yo 2y dslihaa

min & Alwal) O Ly
A JLa (g b dlay 53
Min Z=4X;+ X, + mA; + mA,
S.T
3X;+ X, +A;=3
4X,+3X, + A, -L; =6
X;+2X,+S5, =4
X1,X5,A1,A5,L,5:20
Z Qdlaa A Laglagaig AU 380 0 A, 9 J9Y) 38 (e A Aad 333 5
Min Z = 4X; + X; + m(3-3X; - X;) + m(6-4X; - 3X, + L,)
=4X; + X, +3m-3X; - mX; + 6m —4mX; - 3mX, + mL;
Min Z = 4X; + X, +9Im-7mX; - 4mX, + mL,
Min Z = 4X, - 7mX;+ X; - 4mX;, + mL; +9m
¢ wuddl Agad) A1 GM Tasle Ciagdl Adla i pial aad) Agad) SR a4 L6
MinZ=X;+7m - X,+4mX, - mL; =9m
S.T
3X;+ X, +A;=3
4X,+3X, + A, -L; =6

Basaal) Alewal)
X]_ +2X2 + S]_ =4
XIIXZIA].IAZI Lllsl 20
AN Jgaad) B Adlwal) anlili o3y |7
X]_ XZ L]_ A1 AZ Sl
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Z/"ﬂﬂm) (<144m) -m 0 0 0 |9m
A, 5 1 0 1 0 0| 3
A 4 3 -1 0 1 0| 6
s.| 1 2 0 0 0 1|4 3/3=¢=
6/4=3/2
4/1=4
usShiand) 48y jha 8 dafial) Jad) Cpeund < ghd (i a8 8
ming_hzdb.ul\ O
A; & gAY Jatally X, s Jalal) il Gd)
ousliacad) 43y k(A A LaS ighual) ad ciluaia) 2
(11/301/300 1) o Suall g sl dinal) i (1
R duall 7 dha ad (2
(-4+7m) (-1+44m) -m 0 0 09m
(-4+7m) ( 1 1/3 01/300 1)
0 1+5m/3 -m -4+7m/3 0 0 4+m
A 38 o8 (3
4 3 -1 0 1 06
-4)(11/301/3 00 1)
0 5/3 -1-4/310 2
SN A8l a8 (4
12 0 0 0 114
(1)(11/301/3 00 1)
0 5/30-1/301 3
a3 Jgaa 0ssi (W
<
X, Xz L, A, A, S
y4 0 1+5m/3 -m 4-7m/3 0 0 |4+2m
X, 1 1/3 0 1/3 0O o 1
A, 0 5/3 -1 -4/3 1 0 2
S; 0 5/3 0 -1/3 0 1 3
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X]_ XZ Li Al AZ S]_
Zlo o Y5 g/5m -1/5-m o0 | 18/5
Xt 1 o Y5 355 a5 o0 35
X200 1 35 43 35 o 65
Sli o o 1! 1 1 1] 1
X1 Xz L1 Al AZ S]_
Zz|lo o o0 7/5m -m -1/5|17/5
|1 0o o0 25 o -1/5| 2/5
X,|] 0 1 o -5 o 3/5| 9/5
Ll o o 1 1 1 1| 1

e o g giai Y 7 ad ABS ) g min A bl G
JiaY) Jadl I Bla g5 o)

A iy Jall
X;=2/5
X,=9/5
Z2=17/5
Ex: Solve the Following L P Problem by Big M method .
max Z=2X; +3X,
ST. X;+X, =6
X, £8
X:,X, 20
]

max Z=2X; +3X, -mA;
ST. X, +X,+= 6 R, =6-X,— X
A,
X;+S5, =8
X:,X%X,5:,A; 20
max Z=2X; +3X; -m(6-X;—X,)
= 2X; + 3X; - 6m + mX; + mX,
max Z =2X; +mX; + 3X;, +mX, - 6m
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max Z -2X;-mX; -3X,-mX, =-6m
S.T. X, +X,+A; =6

X, X, A S
Z|(2-m) (-3-m) 0 0 |-6m
A1 1 1 0] 6
S;,| © 1 0 1| 8
X1 Xz A]_ S]_
Z| 1 0 3+m 0 | 18
X | 1 1 1 0| 6
S;| -1 1 -1 1| 2
S Sy Jall

X1=0

X2=6

Z=18

Ex: Solve the Following Linear Programming Problem by Big M method .
max Z=2X; +4X,
ST. 2X;+5< 6 2X; +4X,+S,=4
4X,
X, 21  WX,-L,+A =1

X1,X% 20

X;—-Li+A; =1 Ai=1-X,+1L,
max Z=2X; +4X, -mA;
=2X; +4X; -m (1-X;-L,)
max Z =2X; ¥4X;, -m+mX; - mL;
max Z =2X; +mX;+4X;—-m-mlL;
max Z -2X;-mX; -4X; +mL;=-m

S1
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Al 1 0 -1 1 0] 1 Z coa
(2#4m)( 1 0 -1 1 0) (-2m -4 m 0 0)
§1u}m
X1 52 I-1 A1 Sl )
Z| 0 -4 -2 2+m 0 | 2 (2( (2400 14)
S, |~ 0 4 2 2 1 2 10-1 10 1)
X.| 1 0 -1 1 0] 1 042 2 12
7 Can
X]_ Xz I.1 A1 sl
z| o 0 0 m 1| 4 (-4( (0 -4 -22+m 02)
X, O 1 1/2 -1/2 1/4)|1/2 00 O011/2-1/21/4 1/2)
X.| 1 0 -1 1 0| 1 o m 1 4
Xp=1 98 i) ol Jha [ 4 e Z cdlalaa 4818 40
X,=1/2 max & Z 41l gl
Z=4

Ex: Solve the Following Linear Programming Problem by Big M method .
min Z=4X; +X,

S.T. X;+X, =2
X1SZ
X1, X% 20
1 Jall

min Z=4X; + X, +mA;
S.T. X;+X,+A =2
A1=2'X1'X2

X, +5,=2

X1IXZIsllA1 2 0

o Z=4X+ X, +m (2-X;-X; )
=4X;+ X, +2m - mX; - mX;
=4X;- mX; + X;- mX; +2m
Z-4X;+ mX; - X;+ mX;=2m

Xi

X, A

-4+m

-1+m 0

45



A, 1 1 1 0 2
S, 1 0 0 1 2
X, X, A, S
Z -3 0 I-m 0 | 2
X,| 1 1 1 0| 2
S: 1 0 0 1| 2
L Sa
(-44m -14m 0 0 2m)
(1-m)( 1 1 1 0 2)
-3 0 1I-m O 2
Sa [ Adlu 2 clalas A3lS
max & Z 41l o g
oA Jia¥ Jal)
X]_ =0
Xz =2
2=2
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pabd) Juadtl)
dodadl) daa sl ALY g) S8l 7 3 gall

Duality Model of Linear Programming
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abasd) Juadl)
Duality Model of Linear Programming 4shaid) 4o pll AUl o) Joliad) g3 gadl)
Duality of LP 4dadll daue ,ull 45U0Y
Duality 45Ul zagai N Primal (¥ Ahadll daa ) 73 gad Jugad cullaly ey (any b
clal) 038 (hag
e b 2981 ) dgal) dad 1
4X,+6X, £-10
, - (laanall) 258N Gaamy B S Al 268l dad) Agall Al 0 5eds 2
dald g LBy 5 akiun 3 gl g il priall Cpa uaS dae <l Auhadld) Ao ) Jibwa Jad 2 DU B gl) 3
RESTEYIENJPYKEL R
el max i) a1y casa ZJ\J&MAJJ.MUJA:J\ z-ga.ﬂg-hﬁa:\hﬂ\ daa ull AN dapa )
el daas ) 3 58l Cilalaa g 3 g8l dand) dgall ﬁéc_udﬂuég.“ ZJ\A&,&QU Salls (usal) 9 min
3o g8 389 i 3 gall) B L) IS g i shia

’j:A
max Z=3X;+4X,
S.T. 2X1 + 5X, <10...... Y,
6X,+8X, <15..... Y,
Xi, X, 20

femal A} o
min W =10Y; + 15Y,

S.T. 2Y,+6Y, 23

5Y,+8Y, 24

Y., Y, 20
o Al (LR 73 gadl) il g (1 Ols 134 Dual AU zigalll Clydia A Y, Y, O Eua
Yy 3 gall Sl o 588 ) ABL) | dpaleaal) Julaty dde (3l LaS gl JLaY) Jad) aay L Julas
0 S @al G
Dual Jiial) z3gaill N Primal Js¥) zisalll (pe Jagaill aly CiS puda oi Adll) ALiaY)
Model

48



max il A1 cails 1)
Jagad S (S) ABle cld 3 gbl) ABIS < () el max AoV zasadll Ciagdl Ay cils 1) A B g
. Dual (J:iall) AU Zgadll GS}«.’J\
(S) o Alsatl (-1)* Cudohall G ald (2) 4BBle ld 3 g8l aaf S 1Y) o
dgall cl paial) 3 L&) (I (S) ABde il uaidy Allagin) b (=) ABDle ld 3 g4l Al S 1Y) o
Y1 ) LB (o B SR (5 a5 Sl
135 Dual (@hﬂ\) Silal) 7z 3 gadl) 44U 1y (<) & Primal gifii Zigalll 358 A81S Jygat 2ay 2
min gesal ciagl) a2 e
| (2) qouet 550
Primal (A9¥) zigaill 458 daay JilBal) 73 gall) &l e 3o
Jilial) zagail) B 208l Sa) dgal) paal AgY) 7 gaill Ciagl) Ay cMlalaa
Jilial) 3 gaill b Ciagl) Ao Cdlalaa sl AV zagall) B 208l Ladd) dgall
Silial) zdgail) A i ghua sl A oY) 73 gaill 35380 L BaacY)
Ex: Write the Duality of the Following Linear Programming .
max Z=3X;+6X,+ 7X;

S.T.
5X; +8X,-3X; 260
2X; +9X, +10X; <80
4X,+7X,+2X; =70
Xi,X,X3 20
il
Primal Dual
max Z=3X;+6X,+ 7X; min W =-60Y, + 80Y,+ 70Y5;-70Y,
S.T. S.T.
-5X;-8X,+3X3;<-60...Y; -5Y,;+2Y,+4Y;-4Y, 23
2X; +9X, <80 ...Y, -8Y,;+9Y,+7Y;-7Y, 26
+10X; 3Y; + 10Y, + 2Y; -2Y,2 7
4X, + 7X, + 2X3 <70 ....Y; Y:,Y2,Ys,Ys 20

A%, - 7%, - 2X3 S -70....Y,
Xi,X,Xs 20

max Z=6X;+ 8X,
S.T.
4X,+7X, <10

49

Ex: Write the Duality of the Following Linear Programming .




2X;+X, S5

3X;+5X, £6
X;, X, 20
N
Primal Dual
max Z = 6X, + 8X, min W = 10Y; + 5Y, + 6Y;
S.T. S.T.
4X, +7X, £10 ...Y; 4Y,+2Y,+3Y; 26
2X; +X; €5 .Y, 7Y, +Y,+5Y; 28
3X, +5X, $6....Y; Y,,Y,,Y; 20
X;, X, 20

min <3 ad)a cals 1)

S (2) 4Bdle uld 3 g8l ABIS ()9S5 o ad miin S5V 73 galll Ciagd A cudls 1) Al B
Dual Jiiall gigadll ) g gadll Jygad
(2) o Asatl (-1) @ Cpdlall G alid (<) ABDle <)l 3l aa) S 1Y) o
dgall ¢l paial) 3 L&) () (2) ABDle <ld Cpaly Alladiad aid (=) ABe <)) g8l aa) (IS 1) @
J oV ) ) L) Sy (AN AU (o sl e

Al g Dual ((AGl) Julball 73 gail) LS a3y (2) N Primal (oY) zasail) 358 43S o ga0 2y 2
max gemal ciagd) dn e

(S) st 258

A9 Zasaill 39 aay LAY ] gall) il e 22c

JBal) zigail) B 208l ial) Agal) praal AgY) 73 gaill Ciagl) dlla clalaa

JilBal) 73 gall) & Chagd) A clalaa grual (A oY) Zisalll B agll eyl dgal)

A Zigall) B Chighua paal AV 73 gaill 358l A BaacY)
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Ex: Write the Duality of the Following Linear Programming model .
min Z=6X;+7X,

S.T.
2X,;+3X, 210
5X; +8X, £20
3X; +9X, =30
Xi,X; 20
1gal
Primal Dual
min Z=6X;+7X, max W =10Y;- 20Y,+ 30Y3-30y,
S.T. S.T.

2X; +3X; 210 ....Y,
-5X; -2 -20 ....Y;
8X;

2Y,-5Y,+3Y;-3Y, <6
3Y;-8Y,+9Y3-9Y, =7
YllYZ’Y3IY4 20

3X; +9X; 230....Y3
-3X; - 9X; 2-30....Y,
X;, X, 20

Duality 4wl

Ex: Write the Duality of the Following Linear Programming Problems .
1)
max Z=3X;+ 6X, +4X;
S.T.
6X; +7X,+8X; 210
3X;+6X,+2X; =20
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8X;+2X,+X; <15
Xi,X%,X; 20
10al
(S) o 255 dasat o
JY) BLEN GuSay ALY (g (S) Cpals Whe Gl il oy (=) 35480
(=1) * ool Gy () ) Agald aly(2) 28

max Z=3X;+6X; +4X;

S.T.
-6X;-7X,-8X; <-10 Y,
3X, + 6X, + 2X; <20 Y,
-3X;-6X,-2X; <-20 ...Y;
8X;+2X,+X; <15 .Y,
X:,X,,Xs 20

Duality 4uill)
min Z=-10Y;+ 20Y, - 20Y; + 15Y,
S.T.

-6Y; +3Y,—-3Y;+8Y, =23
-7Y, +6Y,—-6Y;+2Y, 26
8Y,+2Y,-2Y;+Y, 24
Y:,Y2,Y3,Ys 20
2)
min Z=5X;+6X;
S.T.
6X;+7X, =15
8X;+9X, 210
10X, + X, <20
Xi,X; 20
: iig‘
(2) A 28l S Jy 920 ATy
min Z=5X;+6X,

S.T.
6X.+7X, 215 } - Laaas) (Sl (2) b I (=) 29 Jagad oy
-6X;-7X, 2-15 Jg¥) B L&) Gy A%) ki
8X;+9X, 210
-10X; - X, 2-20 & (2) ) 38 Jasal (-1) ORI el
X, X; 20
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min Z=5X;+6X,

S.T.
6X;+7X, 215...Y;
-6X;-7X, 2-15....Y,
8X;+9X, 2 10....Y;
-10X;-X, 2 -20....Y,

X:,X; 20
Duality 4Ll
max Z=15Y,-15Y, + 10Y;- 20Y,
S.T.

6Y;-6Y,+8Y3;-10Y, <5

7Y,-7Y,+9Y3-Y, <6
Y11Y21Y3IY4 20

Optimal Soluion for Dual 4slil) 73 gaill JiaY) Jad) ala)

Jia) Jadl Jgan cilaslaa aladiad aly Y, , Y, , Yz, Z 4 o) of Al 23 gadl JiaY) Jadf sy
41l ALY b da ga LaS A9V gl
Ex: Given below LP Problem and its optimal tabl .
Write the Dual Model and its optimal Solution .
min Z=4X,- 8X,
S.T.
X;+2X, =4 Y
3X;+2X, <6 .Y
X, X, 20

Jia¥) Jadl Jgaa

X, 1/2 ] 1 1/2 | 0| 2
S;| 2 0 -1 1] 2
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gl
o3 (3 13 ¢ (S) LY odei gl V'S, » S, Lkl Uiy (ullaacdd) A8yl JMA (ha Ui jai
Yoo Yy et Ul (p ptia Alleal)
Y.=-4
Y,=0
W=2=-16
B AU Zigaill ol
max W =4Y;-6Y,
S.T.
Y,+3Y, 24
2Y,+2Y, 2-8
Y., Y, 20
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Transportation Models J&ill z 3
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Transportation Models Jiill zla

ol g A oy Ayt ) jiliaall G ulhal) jiliaa Gagad Wb ol Al qudlad) JRL) g 3laly sy
. 0Ui) s ga LS 48 gleaa b SR Jilosa A1

ikl 38 mDestinations

ilaall A3Lsuppl
D, D, D, pply
]
= S Cu C Cis a;
2 " X1 X1z X3
i o |l [Ca] [ 2
g ? X1 X3, Xy3
1 S Cs; Cs; Css as
3
X34 X3, X33
‘T‘SH‘ aa\ASDemand b]_ bz b3

il plbas Jiad Sy ¢S, ¢S5 ¢ L.
allall S| e Jiai Dy ¢D, ¢ Dj¢ ...
j ol 58 e (i el e Jill S JLs Xj
j el S e (i saaadl (pe saad 5l saa 5l Jail) A8 Jia Cij
Si sdladl 48k Jid alca2¢a3 «....
Dj JSal lhall 408 B byeb, ¢ by ¢ ...
- 4daa Sl
1 2sendl s 1 Caall  Aadl ol Z3all (11) Dia j 2 gendl 5§ Cauall &85 culd 3020 Jidi (jj) »
SSall lls S ¢ gana o ilaall Al g gena s sl (O ny @
:M\;ij
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ALl sl 028 8 218 allall LS £ sane (o 5S) aliaall A8k CiluaS & sane S 1)
(st (a5l S yall 13 allall 40aS Eun D Al Ja g (et 5 alla S e Jlay (eb 5 2500
o oll 2 gand) 13 LA alSy 3S) el alls ClaS & ganna g jabiaall d8la g gana G (34
EYSTE S5 PP W

b ai bad) Al S s o iS) Sl Gl LS £ gene il 13 Al 2
el Al o Gum S ol Jayis ety nend s iy (pen s s Ailal Allall o2
LA lSy jaliadl d8la cilaeS 5 581 el ks GleS & sane G BUA (55l Haaall 3¢
oot 5 Ay a5 skt Caall 1

ot 5l 52 an g5 il Jilsa Jal 3
Least Cost Method 4ilS J&l il (1
North West Corner Method (s xll (Jwdll (S0 caslad (2
Vogel Method Jasé caslul (3
dabadll daa il (4

Least Cost Method 4&lS J3i o gbuid
s Jadl ¢l ghad
058 O e (o A1 g (0l 1) JATY) Al 4531 g oy .1

BIVENA| UANIRS £ 9aa = ullal) ilias
LA b, ¢ @, dzaS Ble) o pa A4S JB) ) LA Jpaat fagi 2
allal) 381 pa Alial Lay sliiad aly of ) 138 9 RIS JB) cld LAY Jaad ol 3

Ex: Solve the Following Transportation Problem by Least Cost Method .

44IS J3] 48, jh aladdiady 400l Ja3 Al Ja

Destinations

D, D, D;  Supply
3 4 1
S, 100" 26

Sources S, 5 3 2 50
6 7 6

S; 80

230
Demand 60 90 _80—
S
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g aly 131 Jadd 3as 5 80 () zling Dy f s A4S 81 LY 528 5 80 < (1,3) Al Jpend oy |
33n 5 20 ALl 583 5 80 Sy (e Jliy Dy Clalial

el ¢ sene = allall ¢ gene o a3l 1
45 ) gie Adloall oo

2

A0al) 5 (2,1) Adad) I Jn 1Al e pdead &5 Dy S (2,3) dala o Al AGS (8 cald a3
Al Cus 8an 520 89Sy (e S (1,1) Adad) Jass (g il g 2N Gl slaia LY (2,2)
332540 ALl 5802520 @ Dy JilEig Sy pdad

Sources

. 0 . '
33a 5 40 D, Clalia’ 9 A5S, migsiny 50 o Lelanis (2,2) ddall ) Jaw
o el s Ll 3a 5 40 5 (3,2) Bl @ISy 53a 5 40 o Lebeat (3,1) AN ) Jass

Destinations

D, D, D;
4 1
S:
20 80
3 2
52 50
7 6
53 40 40
60 90  _80~
s A0 0

6 39 o
56 0
80 20 0

G 5S1 e claliial S daas
dall Jsas sa5 Ul Jsaall Jaxi 6

From TO Xij Cost
S1 D, 20 20*3=60
S1 Ds 80 80*1=80
S, D, 50 50*3=150
S3 D, 40 40*6=240
S; D, 40 40*7=280
a1 Akl § 810

58

140
150
290
240
280
10
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North West Corner Method (&l (Jeddl oS 11 48y 4
s Jad) & ghad
40 gia oS al 1) Adleall 4530 g oy .1
9 Jraaill sy g oY) agandl g oY) chall B dadl gl AL o) (1,1) AN Jaaai Vgl AL L2
dul) ae) g8l
o MF:JM &by CJ‘EJ a; »iaiga, ey 408 Jaas "33,-.'331 C"‘J"s‘blwmu e
(2,1) 4180 (5 (1,1) AAd caad 2l Al 408
o Sl Ay by (eay gobsby sikaigh, ey AN (sl alda, (e JB b, ded S 1Y) o
(1,2) 4al o) (1,1) AulAl 5 glaal) 43114
(2,2) PREL o Jiilig a, « by piaigh, Jldiay Au1a) Maﬁgﬁal =b1:\.A..3§C\SLS K
. allall 381 e Alia La A3y oY) Ay o)) ) o3le) 3o gBl) (3 g LAY Jrand Glld aay 2y 3

Ex: Solve the Following Transportation Problem by North West Corner Method .

Sources D, D, | b, | Sueelv
S; > 2 2 100
s, 3 6 1 50
s, |2 4 5 60
Demand 40 70 100
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sl

‘-“J\dmjll'ow1OOCJL"?3J3"°:’SM°M‘—‘-L‘-‘:‘-’Jéhjll-o‘)\dw(l'l)mu\ 1 ”ﬁ"" 1

D1 D2 D3
2
S;
40 60
1
S;
10 40
S 5
’ 60
40 70  _100~
0 0 60
0 0

From 1O Xij Cost
S1 D, 40 40*5=200
S1 D, 60 60*4=240

60

(1,2) 5 slaall 4020

106 50 ¢
56 A0 o
0 0

600’“70CJL'.‘J:"“=&\°;“JM}333360“.—1L@JA33;(1,2)2\:\M\‘:J\J§333_

50 JI e Slan 5 10 JI g sy Shas 5 10 o Lebon s (2,2) Al ) s

100 JI (e el 538 & ylai s s 5 40 o Leleais (2,3) ol 5 stal) 4dall U Jass |
by ¢ a3 (e JS sy san s 60 < Leleaiy (3,3) Adall ) Jaws

o alais |

o U W N



S, D, 10 10*6=60

S, D; 40 40*%1=40

S3 D; 60 60*5=300
LI 2K § 840

Ex: Solve the Following Transportation Problem by North West Corner Method .

Destinations

Dl DZ D3 D4

1 4 3 5
S;

2 6 4 6
S;

5 1 1 2
S3

1 2
S, 3 3

1 1

S, 3 4

40 40 100 100

Dl DZ D3 D4
A 4 3
! 40 40 20

2 6 4 6
S
2 60

5 1 1 2
53 20 20
s, |1 2 3 3

100

60

40

50

30
280

280
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50 50

A9~ _40° _300 160~

0 0 80 80
//
200 _’0
0 0
From TO Xij Cost
Sq D, 40 40*1=40
S1 D, 40 40*4=160
S1 Ds 20 20*3=60
S, Ds 60 60*4=240
S3 D; 20 20*1=20
S3 D, 20 20*2=40
S, D, 50 50*3=150
Ss D, 30 30*1=30
Total Cost $ 740

Vogel Method Ja¢? 48, )k

s Jal) @l ghad

19a8 S g cina JSI (G810 S agas JS (B i JS (8 (RIS jhual okl L1

g JA5 4GNS JB) culd A Jraad allyg (1) Bsbadd) A ST gl (308 S RS 2
bj « ai a8 3l 5
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Jhéjmwaqmigﬂ\éw\g\@d\‘,&ﬁd 3
qllal) 381y cilabia) 481 eliY) ol o I odlef cilghadl) < 4

Ex: Solve the Following Transportation Problem by Vogel Method .

Destinations

D]_ Dz D3 SUEE'!
s, 5 3 1 60
Sources S, 6 4 2 30
2 1
s, | 70
40 40 80
:Jad)
Jwik_li.mdsgg[).\.\sﬁ:. dﬂ‘C)Le:\,-Jl
5 3 1 o
60 |2
6 4 2 PN
30 |2
3 2 1 ()
70 |1
40 40 80

2] {a) [o]

130 35005 o o 5381 b B 298 38 81 01l 130 o 0905 36 81 i 2
I Cauall U85 (S5 Lagia (ol s

JsY) Caall Ciladii g 3as 5 60 o Lelani s (1,3) Adal) oo o 460S 8 cld Al Jass 3
20 S &l 60 < by Jlai s

60 |07 0
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40~ 40 20
0
3] (2] (4]
3&}40@3%&5&\5%&\%}] 3 S g Y UV 3 gendl a5 A8l <l gladll s 4
djiy\djud\&._iudj

4 2
10 20 |30 { 7]
2 1
30 0 (1]
40 20

o) [

LJ&J\ Cilas b LAAT) Jasd g dailad) <l gladl) ai 5

D, D, D,

5 3 1
S 60
! 60

6 4 2

30

52 10 20
. 3 2 1 70
3 40 30
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40 40 80

From TO Xij Cost
S D; 60 60*1=60
S, D, 10 10*4=40
S, D; 20 20*%2=40
S3 D, 40 40*3=120
S3 D, 30 30*2=60

Total Cost $ 320

Vogel Method 4w i) Ja o8 43, jha

Ex: Solve the Following Transportation Problem by Vogel Method .

Jasd A8y yh aladiiady 400l JAL Al Ja

ikl 8 wDestinations

D, D,

Ds; il clusSupply

2 5

1

80
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sladliSources

70

50

60

80

bl claspemand

60

10

10

60

867630 0
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> [ 50 56 0 H
0 16 50 80 (.60 ]
SRR
&
RS
. b
JAdl) il J gaa
LSl A [ oaall A4S | X A lhal) Ddadll
$20 2 10 D, S
$50 5 10 D, S
$60 1 60 D, S
$210 3 70 D, S,
$100 2 50 D, S;
$440 Ayl 4alsl)

Testing The Transportation Solution for Optimality

67



- A3aNa
83 ¢ 82 ¢ 81 4dsdall i daia ge 4y Hhall o8

Ex: Test for Optimality the Following Transportation Solution .

D, D, D,
3 4 1
S;
50 50
2 0 5
S
50 20
1 6 2
S3
80

:Jad)
Up ¢ Uy ¢ Uz <l osially Cagiiall 3a i g dadd dlesal) LAY alS 231 (7
Vi ¢V5 ¢ V3 Gl yaatialls 3aee V) g
Cij = ui Huj Aabaall aladiul JAUA e vz ¢V, €y ¢ Uz ¢ Uy ¢« Ug Sl paiall sl 2a5 (2
Dha = ug OSs Jha = G i) aal (g

A 4d shiaall 8 dain e 5 AY) Gl el o o

3 4 9
Vi Vo V3

O uy| 3 4
-4 u, 0 5
-7 Uz 2

“Cij =Cij— ui {vj Al dsbaall P& (e Cij @l el o 22 (3
lana Ll LAY Cij il alasinly ella g
C3=1-0-9=-8¢m@ 4.

3 4 9 Cor =2+ (-4)- 3

0 1 =2+4-3=3
-4 2 C1=1-(-7)-3=1+7-3=5
71 1| 6 Cp=6-(-7)-4=6+7-4=9
Wl o a5 o
Jial e Jall

68



gl Juadl)
Assignment yawaiill

ol Al Al
Al s B2

Assignment yamaill)
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Jale JS1 Jue (asadd i Gl Gglad) 138 aladi Al

In Case of Cost 4dlsll s & (1

s Jad) @l ghad

i Bl gleaal) aae A B BaacY) dae = Cighial) 2o (o day o Adghiaad) 0685 O g L1
s = dilaall dganll g) Clall 138 LA 441 g 48 jhuaal) Aa s 3 9o gl i ABLL)

Dummy < 25l gl cial) ‘:\Auhé.‘kgj

Jand) 138 adali fpa Ailil) A Jaad ¢ Jleadl aaY awady o oS Y Jee dla Gls 13 D B 2

00 = LIS Jalall ga

chial) B Sl A8y e Ciua JS B 4GNS JB) kol 3
dgandl B (A 48y (e dgas JS A AR B 7 kol 4
Aga gand) g A,889) o ghadl) (ha AiSan 230 Bl Jlhual o (g gind Al Gigikall g BaasY) i aly 5
(6) Bshddl N Al dusey g aradil) aid U ghiall aie = haghdll sda dae LS 1))
o) addl) Ak ca 4 gladia ) adlll e dad B ko Al Cighuall dae # haghadl) e s B 6
L ghdl) adalis b dad) gl) adhll ) dahl) oda ddla) g 4, ghaiia

Ex: Assign each job for each worker at minimum total Cost .

ACaa 48 8L g Jule JSI Jee anad

JwsY¥Jobs

Js

J;

Js

Ja

W, | 15

13

14

12

W; |11

12

15

13

Jwl'Workors
W3] 13

12

10

11

W, | 15

17

14

16
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15 [13 14 |12)] 3 1)) 2|0 310127160 3101310
111) |12 |15 |13 0)l1]14] 2 01T 0 1112 6101512
13 |12 [10| 11 312|001 311]10{1 210106106
15 |17 [14)|16 131012 12012 6 s O i
Gighall dae # hghdll dae ighall aae = Jaghadll vae

5 Workors Job Cost

W, 1s 12

0 W, iR 11

0 W3 ), 12

0 W, J3 14

Y Al 49

Profit z= ) A & (2

: Jal) c ghad

O G 48 ghuaall AUla oo 3 gas gl Ciua ALl Glld g IS (45 ol 13) day o 48 glhiaal) Jaa oy |1
L Abgiaall A dad o) g glud ciliaall 3 ganl) g Chall 138 LA

138 adall (pe Ailill A0A oy Jaa ald G Jeao Jladl el ¥ Jlaad) aa) dlia (S 13 2
 Aa (g g Jard) g Jalad)

MM‘&M\&WQM“AOJJAJAMJJS‘C# 3

3 5 ohadl) fpa A4IKY <) ghad & 4

Ex: Assign each job for each worker at maximize total Profit .

o ob des dals g8 paad

Jws¥)obs
Ji L ) L

W;| 8110]11

JwallWorkors W2l14112] 7
Ws|12]13]10

Wilo |86

N |O oo o
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8
9

811011 6
14)112| 7

12 |13 |10

L ghadll aae

gdall 23

+
BB LE.
[a
)
'y}
ol =2 5| =< =
o
%
(@)
k1234
1EBHE
=
o
o
o
o
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el Juadll
Jlas ) il

Networks Analysis JwesY) cilsud
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e (4 o A8 O g Al g g Lithala Ayl jall Aadil) (e Ao ganna 4dly £ g el iy
Opeadigal) 8 (o o jlial) A gan andiead | Ajlead) agdl i Ao ol &g jldial) (adiga S (e 223y
O Agalic) ) Nl 4 ¢ jdise gl g daaall cBgll B £ g pdall ladl Gladal Cp i) g
e

&3 & “ I”I “w ~$.... JA‘JA

£ 9 hall Jlast) Auds e L) ; Y
Eilaal g clllad o) Andd] ) g jldall Julas
Eilaay) g Aaday) s
g9 pmiall (haadadl au
[l

Agllad o) Jalds It Ada Y a8
£ 9 il Jaglads ; Lyils
da all Aadd) paas
gAY Jlaal) sl @
i) cBg) e g JS oo paildl) Glua o
£ 9 rhall haa ; TS
4 B £ g piall Adad pa Lgli B g Ada Y1 A8 e
W 3T 2 Jal) dadl) £ L) g Ualicall a8 4 glaa
Ofal o goall A paild cd g il Jalds ¢ cililSay) JAS
(B o bdial) Bl (8 addiad (o sl Gllia
(CPM) Critical Path Method gz Jbeall cisbad |1
(PERT) Project evaluation and review technique & téall auliy daal e csbal 2

Vol g pial) Undidl anny aly () uag (819 Aualild) LAy S Co slua) O8I g
£ 9 pal) A8l ans
L) Jia | dilgdll Baie 5 A0ad) e Lab sk £ g pdial) Al (e Activity dallad g Jalis <!

A
Q A / EETj
1 > 2
y /\ LETi
Of ua
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Jalidl dglay jSuall 8 gl = EETI
Jaladl) dglad Al ¢ o) = LET
LLadl) Ll Sual) gl = EET]
LLad Llgdl ALl cdgl) = LET]

G L ) Bagall s Y

o

e Baial) Al (adi g Aglay (udly S iy ) JS) g1 el s Y

D=

4318 Sas) g Sakie Alglg bale Aoy ialie Jay el callad 1)
Dummy < W a9 4ran gl Aadil¥) aladi) ol

1 (.
» -
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Ex: Consider a Project with the follow information .

Al any athaall | ao ldall aal A Cila glaall

Jall) A3l Adaiay)
Activity Predessors
A —
B —
C —
D C
E A
F B
G B
H E,F
| G,D
J AH,l

L
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(CPM) Critical Path Method 7 Jlwall qi gl
Jeal) Al upbet) 138 Ao g3 Aty g A jliiall Jandadill dasiiial) cadlaY) 3a) s& CPM o sbedd
LSl 13 o a8 Al Ak g Critical Path g )
AU Y daaall lgia) B W0 o g Al AaddY) e a8 oA Ll 4l gz jad) Jlaal) Gy g
. B9 al) Jlad) (e
p ol axdiy oAl Jleall gl ¢
Bl g Al g Alal) cldgh 1
base JSVLET « EET <yl g
Earliest event Time () »<aida & EET
Latest event Time (! »<aida A LET

- A Lt s

EETi A / EETj
1 > 2
LETi \ LETj

b LaS B oY) ada ludial Aty g
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EETi =
LETi =
EETj = max{ EETi +di} suc Jo
LETi = EETi 83)*5'“3‘@’5):'5?‘ e ll
LETi = min{ LETj - Dij]- S AY) dhall
(LETi = EETi) 4 (s sbei g1l Jlewall 94 9 7 adl jlucal) Syl |2
(EETj = LETj)

0 ]‘M sl (B Bake oY
0

Caild o g 4d a9 Y g
Project Completion Time §&.su<all Jlady a U cdgll a3
Bal) St B Y Julas 4

o kil (saaY Al il glaal
Ex: Given the following information for a project .
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P WNPRE

Draw the Project Network £ g dall 4Sudi an )

Find the Critical Path z_adl Jlwal) 229

Find Project duration Time £ 5wl jladl 3 438 aa g
Analyze the Nodes Time il cildg) Ja

JaLl) A8l ddalaiy) Llad JS ) «d
Activity Predessors Duration Time in days
A — 3
B — 4
C —_ 6
D C 2
E A 4
F B 5
G B 4
H E,F 6
I G,D 3
J AH,l 2
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S

a5 5

Bl dlgs

TF

FF

Critical Path= B

80

Femp Hemp Jmmpor 7z sl Lol

Project duration Time = 17 days £ gl jladl g




Activity | B | Nodes | cor | ey | eery | LeTy
Activity
A 3 1-2| o 0 3 5 2 0
B 4 1-3| o0 0 4 4 0 0
c 6 1-4| o0 0 6 10 6 0
D 2 4-6 | 6 10 8 12 0 0
E 4 2-5| 3 3 9 9 2 2
F 5 3-5| 4 4 9 9 0 0
G 4 3-6 | 4 4 8 12 4 0
H 6 5-7| 9 9 15 | 15 0 0
| 3 6-7 | 8 12 | 15 | 15 0 4
J 2 7-9| 15 | 15 | 17 | 17 0 0

diall il oY) Julad Analysis of Nodes Time

40l Aaildl) 3 8l a9 TF o dua
TF = LETj — LETi — Dij
SJAJ\MU’.\\SJE\@JFFQB
FF = EETj — EETi — Dij

(PERT) Project evaluation and review technique a el auil g daa) o o gbuid
9l U8 lady da Y 5adl alaia) jlaey) il 8 AL Al CPM sl 13 catisy
o s B JS Y Ak oo b A (i) G @ g el Adnii] (pe Allad
c o4 Jang s Y o3l Most likely Time .1
b @A Jans AsWill (a3l Optimistic Time .2
a @A ey slldl) a )l Pessimistic Time .3
PERT sl aladins) il glad
Uslaal) ra @lld g Jal&S JS LA a8 gial) (e 31 Jaas gia il 1
a=b+4C
d

ol
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Adalaal) con Bl S LA e B ol Qileas
a-b
2
v=——_—)
6
£ 9 rial) ASpli oy
Zal Jlall dlay
£ 9 dall Slady 4ad giall 5 dl) sl
§% Al Jlesall Aadidl 0l £ sana 529z Al Jlsal) Gl Aol
Z 4 jlnal) Aagil) sy
a=b+4C
Z =

\s?
A ida gy AN Sl g
Ex: Use PERT to Find the Critical Path , expduration Time , Variance of the Critical

Path and Value of Z if D = 15 Days .

Duration activity Time

activity Predessors | mos likely time | optimistic | Pessimistic
A - 4 3 5
B - 4 2 3
C - 5 3 6
D a,b 2 1 3
E b 5 4 7
F C 6 5 7
G d 4 3 5
H ef 3 2 4
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7

activity Predessors d \"
a - 4 0.11
b - 3.5 0.028
C - 4.8 0.25
d a,b 2 0.11
e b 5.2 0.25
f c 6 0.11
g d 0.11
h e f 3 0.11
4 d 6
2 7.8 2 9.8
— N e
\ g
\\\
af 4 \ a
\
0 b \/ 13.8
> 7
0 3.5 \ 13.8
h
3
I f 10.8
6 10.8
) h = gl el &
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5 13.8 = £ gdall JladY dad gial) 5 )
$2=0.25+0.11 + 0.11 gl el (ks

=0.47

D =15 s 4 Lmall Aol

15-13.8

V0.47

=1.75

CPM 483k o Adileal) ilsland) aladinaly TF,FF 2l (S 1 Adiadha

activity | Nodes Dij EEi LEi EEj LEj TF FF
a 8 0 0 8 8 0 (o)
b 0 4 10 6 (o)
C 5 4 10 10 15 0 1
d 10
e 2
f 3 10 15 18 18 0 5

CRASH COST £ g sdiall Jlad) ¢pa 3y Japaill 44IS)) aladiind

4o DU Calsl) Baly 3o Wi g g g pdiall Slad) 3438 (il (o] £ g pdiall Sladl 3 il Japanll AAICY) andid

LA il gy AL Sl g £ g pdial) Adadil) [ cilallad Glad) Janacy

Ex: Find the Minimum duration Completion Time at Minimum Cost for the
fallowing Project .

Normal Crash
activity | Predessors | duration Cost duration Cost
A - 8 100 6 200
B - 4 150 2 350
C b 5 50 1 90
D a 10 100 5 400
E a 100 1 200
F c,e 80 1 100
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&) ghad

C gAY B gl G JladY) AdlS g £ g pdiall Jlad) 3 g 7 sad) Jlesall 2adg £ g piall ASudi pnpi 1

cGua Agled [ Lalds g8 Jaal) 228 2

ey cB gl Guua 44IS)) - Jaaal) o 44IY

= Juall

Jaxall cgll - galiey) cd gl

activity

Slope

50

100

40

60

25

-~ |0 Q|0 |T|Y

10

85

C.-C,
Jsall Slope = —
D, - D¢

18

18

051 18 = £ g piall Jlad) ()

a d nghal) Jusall

580 = 44l

g xS B JSFRY a5 3



FF = ESj — ESi — Dij
0&&&53@0335)&\)@\&9&43\3@\)& 4
Al Sl o ady g BLAD o
50 & Ll Jua
hﬁédhﬁabmﬂst\dmo\&hﬂud g
odlef cila glaal) 71 Adul g aw flami |5

16

16

a dmghal) jlual)

16 = 4xia 3l 3_adl)

680 = 580 + 50 * 2 = 44l
Jaa 91,35\1\ KX

FF=4 o) (Y ki alii 6 Il d paddialy 6
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a dM\JM‘

b C =) mm)

as 12 =l

240 + 680 = 60 * 4 + 680 = 4dll|

920 =

12

12



s gdal) Juadll
:\ﬁ*ﬂbﬁu‘g\ 5 jlaall
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Strategic Games Theory 4l i) 8) jlual) 4y a5

e
AV kil o) Sadde Point &) 4k 352 9 s A maxmin (min max) bl aladi
b Jos

maxmin = min max
Ex: Find the Optimal Strategies and the value of Game .
B baal) dad g el ciliasl iud) aa gl
Player B <=3

B, B, B3 B; Min
A, | 8 =2 9 3| -3
«=MIPlayer ; Az 6 5 6 8 5&m max
A; | =2 4 9 5| -9

By ¢ Ay & (sliall il i) o

V=5 3Ll dad o
R IA B e N8 i g A oS N gy Jiad A8 sheaal) 8 Al Laily 1 Aaada
Ladla oy 13 ¢ 4 jlud (65 Jglay 4318 B e D) Lal gl g 4aly i 835 Jolas A e )
Ay ¢ Ag ¢ Ay Sl A (e ds ganay A oM Galy Gua 48 ghuaay Allal) Ao lua
038 adiiud ¢ By ¢ B, ¢ By Jial bl fiud) (4 s A As ey caly B el
Cpe Jhia JiS) gl (8 pa lia ¢y oSy Ladie 4y Sl g Apalaidy) JSUaal) dSlua B 4y il
LA bed A ) 5 g8l Lagda JS Jglang

: Ll
a9 9 ate Ala A da) ) 31 jleall Jilawa Jad (3o Bae dlia | o) 55 ddali a5 g ae s B
(A9 O Al

Analytical Method 4sbiail) 4aal) 48y jlat) 1
Graphical Method (bl e ) 48y )k 2
Linear Programming 4:ball 4a ) 43y )b 3

89



Analytical Method 4uliaill 43, )kl
Ex: Solve the Following Strategic Game Problem by Analytical Method .
Aabatasit) 48y jhal) aladiiody Al aa) 81 luall Adlwa Ja

Player B <>\

B, B, Bs; B,

Al3 7 6 -1
weMPlayer; A, 2 5 4 6
Als a4 3 2
As| 5 3 -3 4

s & ghadl)
B J 3l ol Lo il Al clad) Aud) cdad
A O s ) s i Al ) ) dids @lliS g
&I QAT AN A A, ¢ Az s By ¢ By bl ) o) Badl ¢ 2%2 ddghuaal) A5 duay
44 ghuaal)
B; B,
A;| 6 -1 | X
Al 4 6 [(1-X)
1-X Juaialy A, 4l fad g X Jlaialy A; 4l ) caly A @3 o gadi
% 6X+4(1-X) = -X + 6(1-X)
6X +4-4X = -X + 6 — 6X
6X-4X+X+6X=6-4
9X =2 =2/,

V=6X+4(1-X) 31kl dad o

=6* 2/9*'4(1'2/9):40/9
B; ¢ By ¢« A; ¢ A, fall cibiad) i)
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Graphical Method 2 * m 4l iud) 31 bal) Jad (Sbul) ac ) 48y )k
Ex: Solve the Following Game Problem by Graphical Method .
() an ) A8y gl aladiiady Al A AuY) 31 el Adles Ja

Player B <>\

B, B, B; B,

Al2 2 3 6 |x
s
= Plaveriy 4 3 2 3 |(1x)

s Ja)
1-X Juaialy A, ) i) g X Juadialy A, Al Sl addien A o3 o g i
B A i A N ailad)
B, 2X+4(1-X)=-2X+4
B, 2X+3(1-X)=-X+3
B; 3X+2(1-X)=X+2
B, 6X +3(1-X)=3X+3

X=1aigX=0 (8 pasaily clig A J ailal) gy
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¢

ablii A 48l g maxmin Jier JinY) adaliil)
% -X+3=X+2

3-2=X+X x=1/, =

1=2X
V=X+2 3 ball dad o
= .1/2 + 2 = 5/2
B, ¢« B; ¢ A; ¢ A, iall cilia) iud)
Graphical Method n * 2 4l iud) 31 jbuadl Jat bl av ) 48y )0
Ex: Solve the Following Strategic Game Problem by Graphical Method .
) a1 A8y jha aladiialy Al EuY) 31 jlead) Adlwa Ja

Player B <=3

B, B,

A;| 5 8
ceMPlayerip, [ 6 5
Al 5 7

y (1)
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: Jal)

1-Y Jwialy B, , Y Juialy B, Aol i) adiiey B 3 o (i

A 4 i) B M 5_luwdl) 4o
A, 5Y + 8(1-Y) =8 + 3Y
A, 6Y +5(1-Y)=5+Y
A; 5Y +7(1-Y)=7-2Y
\' \'}
A A
maxmin L 3

@ minmax Jies oY) adalidl

34
2_—
1__ I 1
Y €
0 1
% 8-3y=5+y
8-5=y+3y
3 =4y V=3/4 =

V=5+y 8kl dad o
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B, < B, ¢ A; ¢ A, el claadl aud)



e SUY Juadll
OB (a8 ghua
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Queuing Theory JULY) b giua 4y 13
oald (A3 S dpan) Ay B adgd g UL Lgsd aa gy (AN JSUa) B U  glea 4y BT aadid
s Ay Bl sda aladin) o JUag Jadill g z Uiy clles e zilil) JUSIY) Cpe Aalil) Cadasl)
il sal) (8 Gl (e pdliad) iy g i Jaads
. ol pitdal) 3 jalia g da g A gan
 Adal) Jles) 4l g2a
. lbdlioall (e o pall 7oA g Jsia clles ddgan
A 38 el i pgd) cildaaa g 1) avanal
A58 el (3l g (g (5 puadl) il 2 aT3
OF Ldany Calids ) 5 JUSTY) G ghaa Jilva Jad addiind ) dadaly ) el (e dand) Sl
L zigal JS0, Al 8 dasid) cillaaa 3o g dadid) g J gua ol Adlaial) il 5 9l DA Cpa Ganl)
(alblc) : (dlelf) : 3l chg Al quua AY) Zisalll oo 0 jaay
&g s Aial) ay gl oS M QUaL ) J g sl daad i) a el ) e a
Jdsasl 2 S )9 (G)r Al e ale @368 S 139 (M) 4 Jas@ Poisson dist. (sl s:
. (D) 4 e il Jara Al
Exponential (ol &8 sa Maia¥) gl oS 10 daad) a3t AladiaY) g6l (M et b
Al Ja b il Jara GAS 139 (G) A e General ale &5 S 13 (M) A 3aé dist.
. (D)<
13) 9 (1)< L ausd Baaly daadll cibasa axe oS M8 Servers 4addll cilasa sae LA‘ BYS'RN ¢
. claal) a2y g (C)ert L S 2alg a S
dUa IS 139 (GD)w 4 Jass Yl axdy gl Gy (a S 138 Aaxd) B A0l gY) ) S s dl
. (Priority)< 41 3a 4514l
(00) @ 4 Jam ddaa e IS 3B U Cha 8 aglaad aUBH) aodvicg 3 3l ) Sa g e
 (N) A e ASa g
O ‘323 (oo)u‘u}a# daa € G\ \Sgéemﬂ\ (JJ‘ Ol jhaa ‘5\ JMAJ\&@AUJ\ BYS R i
C(N)2 4 Sa daaa
m/m/1 : GD/oo/eo LN Cika zigai .1

gJLASAY\ @jﬂ\ & One Server daa) g dadd ddasa e ¢ 5 System ‘aw\ O el 249
ol 8 Aaad) (a3 05 Poisson dist. (gl gl g sl alail) ) Jgea gl daald
BN Cha b Slaall g) GalAdN) e ddaa @ 230 Jeady Wil o) g Exponential dist

Adail) ) g gll dnad (aliiN) ) gl asdiud ; ABiadla
s zigall 1 B daadiial) jga )l
a : Number of Customers arrive adalll I (ulal gl 23

s : Service Vate Per Unit of Time () 3335 (4 4aadll Jara

oWk
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u : Utilization factor or probability that the System is buzy ¢ Juia) o) LN Jalaa
Jstdia Ul
P, : Probability that the System is empty § b aUaill Jlaia)
P, : Probability that n Customers in the System Uil & (alAdY) (e n 3529 Juia)
L, : Expected Number of Customers in the System aUaill & (alddN) (e a8 gial) asal)

L, : Expected Number of Customers in the Queue i (& (alAdY) (e @ gial) 22|
Ay

W; : Expected Time in the System Ui cia 8 a8 giall < gl)
W, : Expected Time in the queue LY i (8 ad giall d gl

Laddiowal) oyl gal)

1. u=%¢ <1
2. Pp=1-u
3. P,=Pyu"

4. I'S'u/l—u
5. Ly=u?/y _,
W;=L /A
7. Wo=L,/A

Ex: Consider a queuing System has one Server and can have unlimited number of
Customer in the System .

Arrival rate = 8 Customers / hour

Service rate = 16 Customers / hour

Find :

=Y

. Probability that the System is busy

2. Probability that the System is empty

3. Probability that 3 Customer in the System

4. Expected Number of Customer in the System
5. Expected Number of Customer in the Queue
6. Expected Time in the System
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7. Expected Waiting Time

a = 8 Customers / hour
s = 16 Customers / hour
‘:’ u=a/s =8/16=0-5

1.u=0.5
2.Pp=1-u

=1-0.5=0.5
3.P3=Py *u"

=Py * u® = 0.5 * 0.5°= 0.0625
4.L;=u/1-u

=0.5/1-0.5 =0.5/0.5 = 1 Customer
5. Ly = u’*/1-u

= (0.5)2 /1-0.5 =0.25/0.5 = 0.5 Customer
6. W.=L,/A

=1/8 hours
7.W,=L, /A

=0.5/8 =1/16 hours
m/m/1 : GD/N/oo JELN) hua i gai .2
Gsmil sl @ sl iy Jgea sl 2 ¢ Baal g dadd Abaaa o (g giay System Ul o dlld ryg
. gAAEY) Ga N Jeady sl (81 ) @0 ol daadd) (e Gl el
dadiiaial) jgall

a : Number of Customers arrive

s : Service Vate

u : Utilization factor

N : Number of Customers that the System can have
P, : Probability that the System is empty

Py : Probability that the System is busy

P, : Probability that n Customers in the System

L, : Expected Number of Customers in the System
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L, : Expected Number of Customers in the Queue
deff : effective arrival (Axdl) Jgasll Jina
W; : Expected Time in the System

W, : Expected waiting Time

il )
1. u=9/
2. Pp=(1-u/1-u"")
3. P,=Py*u"
4. Py=Py* u"
5. deff=a (1-Py)
6. Ly =u(1-(N+1) u™+Nu™") / (1-u) (1-u™?)
7. Ly=L,-deff/S
8. W =1L,/ Jeff
9. W, = L,/ Jeff

Ex: Consider m / m /1: GD/4/oc Queuing System, arrival rate is 8 Customers /
hour and Service rate is 16 Customers / hour.
Find :

1. Probability that the System is empty
. Probability that 3 Customer in the System
. Probability that that the System is busy
. effective arrival rate
. Expected Number of Customer in the System
. Expected Number of Customer in the Queue
. Expected Time in the System
. Expected Waiting Time

00O NO U1 A WN

a=8Customers /hour ,N=4
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s = 16 Customers / hour
% u=8/.=05

1.Pp=(1-u/1-u"*)
=1- 0.5/1-0.5**" =0.5/1-0.5° =0.51
2.P3=Py * U
= 0.51 * 0.5°= 0.063
3.Py=Po *u"
=0.51 * 0.5* = 0.03
4. deff=a(1-Py)

=8(1-0.03) =8 *0.97 = 7.9

5. Ls= u(1-(N+1)u™+Nu™?) /(1-u)(1-u™?)
= 0.5(1-(4+1)0.5*+4*0.5"**)/(1-0.5)(1-0.5*"*)
= 0.5(1-5*0.5"+4*0.5°)/0.5%(1-0.5°)
=1.2
6. L, = L - Xeff/S
=1.2-7.9/16 =0.72
7. W, = L, /eff
=1.2/7.9 =1.3
8. W, = L, /aeff
=1.2/7.9=0.6

m/m/c : GD/oo/oo JELN) Ciua grigal .3
. AR (e 0o allal) Jaally g daadl) cildasa (e ¢ Ao G5y U Cha (8 zigalll 128 b
c ) 2 aatls Aaaddl (el Gigmil gr @ sl i Jgma sl Jira G A

dadiiial) Jgall
Number of Servers 4eill cilasa a3e Jial ¢ o)l g 4Bl Zalalll & jgadl (udi padiis
G g8l

a = arrival rate

s = Serrvice rate
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1. u= a/S
Po=[Y5_0 u"/n!+u/c!(1-u/c)] " Probability the System is empty

Probability that the System is busy =1 - P,

B W N

P. = Probability that n Customers in the System
P,=(u"/c"*c!) * Py
5. L; = Expected Number of Customers in the System
=H+u
6. L, = Expected Number of Custom ers in the Queue
= (" /(c-1)! (c-u)?) * Py
7. W, = Expected Time in the System
=L;/a
8. W, = Expected waiting Time
=L,/ a
Ex: Consider m / m /3 : GD/oo/oe Queuing System , arrival rate is 8 Customers /
hour and Service rate is 16 Customers / hour.
Find :
. Probability that the System is empty
. Probability that 3 Customer in the System
. Expected Customer in the Queue

. Expected Customer in the System
. Expected Time in the System

v Hh W N =

a =8 Customers /hour ,c=3
s = 16 Customers / hour
u= 8/,,=05

1. P, =--Z,C,;}) u"/n!+u/ c!(1-u/c)}'1
+ ¥3-10.5"/n!+0.5%/ 3!(1-0.5/4) 1
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= 0.5°/0! + 0.5/1! + 0.5%/2! + 0.5 / 31(1-0.5/3) *
£1+0.5+0.125+0.02% * 7 1.65 *=0.6
. P3=(u"/c" *c!l) * P,
=(0.53/3*%* 31) ¥ 0.6 =0.0125
. L= (u/(c-1)! (c-u)’) * P,
= (0.5**/(3-1)! (3-0.5)?) * 0.6 =0.003
. Ly=Ly+u =0.003 + 0.5 =0.503
. Ws=L,/a=0.503/8 =0.06
m/m/c : GD/N/oo LY b 7 gai .4
) g1

Po=[Y52L u"/n! + u(2-(u/c)V ) / c!(1-u/c)}'1

. P,= [u“/n!*Po ...if0<n<c
u/el(c")*Py ...ifOSN<N
. deff=a(1-Py)

. Ly=Ly+deff /s
. Lg=Po * u®! /(c-1)! (c-u)z{ 1-(4/c)V - (N-c)(4/c)* € (1-4/c)}
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dg Ay Jslial) % Ja Qﬁ Ry < giua aladiul
Min. Total Cost 423 gia 4,18 481 JBj rigai 1

4818 B glay oA AUAL LA oy Adl 73 galll 10 s

a . Total Cost = Service Cost + Waiting Cost
=c;¥s+c*Lg
BN Cagiual (3) zisal ¢ (1) pisad o Qsill 13 gahabig
b . Total Cost = Service Cost + Waiting Cost + Losses
= *s+c*¥Ls+cz3*a* Py

U G giaal (4) gisal ¢ (2) gisad o sl 13 Gy

5 JLAVEN
Al gl yadlll Service Cost : ¢,
A o) addll Waiting Cost : ¢,
3 ludl) 441! | osses : ¢,

G U i il (e gall) aand a3 (pa g AlSial) Al o W g Ay o gAY i Gaadal g
L GO L) o cha g a8 o iy
Ex: Two repairmen are being consiering for attending machines . The First
repairman will be paid $3.00 and he can repair 5 machines per hour . The Second
repairman will be paid $5.00 and he can repair 8 machines per hour . machines
breakdown at rate = 4 per hour . if the Waiting Cost per machine per hour is $8

Find which repairman should be hired .

Lgad

First repairman
a=4,s=5,¢,=3,¢,=8
Y Gisiial J oY) gigall) agle (gakalyg
Total Cost=c;*s+c, * Lg
=ufl-u,u=a/s=4/5
=4/5/1-4/5=4/5/1/5=4
+* Total Cost for the first repairman=3*5+8 *4
=15+32
= $47

Second repairman

a=4,s=8,¢,=5,¢,=8

LY giial J oY) gagall) e (gakalyg

Total Cost=c;*s+c¢c,* Lg
Ls=u/1l-u ,u=4/8=0.5
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=0.5/1-05=1
Total Cost=5*8+8*1
=40+ 8
= $48
481 J8) 38y 4Y J oY) repairman J) e Bl aGy o

Ex: if The First repairman cannot repair more than 3 machines, Find which
repairman should be hired .

Ex: A company would like to buy a System Tow system are available with the
following specifications .

System 1

Service rate = 4 per hour

Service Cost = $50

=5

Number of Servers = 2
System 2

Service rate = 8 per hour

Service Cost = $100

Number of Servers =3
Jobs arrive at rate of 10 per hour and Waiting Cost is $100 .
Find which System to be bought by this Company .

Optimal number of Srvers  Liall daail) Cillaaa d3c Al 2
AUl G g aladiuly dldg el deddd) cillasa dae Mgl qullaly JSUdial) (any A
Total Cost=c;*c+c,* L

:Qic_ua

Aaadl) cilbaaa a2t ¢
daail) 4418 - C
Ay 445 - C,

LB B aB gial) aael) ;g
Ex: A company would like to hire a number of machines to perform jobs which
arrive at rate of 8 jobs / hour . The waiting Cost is $25 . Each machine can
perform 10 machines at Cost of $300 .
A0 <l ghadl) Al Jigaad) 138 Jal
1 = daddl) cllasa 23 i85 1
Total Cost=c, * c+ ¢, * Lg GSAY (gada
Ls=u/l-u s
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m /m/1 : GD/wofeo alai 43y
2\3\553\ 441t a9
‘&33?332=L&\Q&M4&u.4ﬂ 2
m /m/c : GD/eo/eo (il 88 aladinly 815 o3e) (& gAY (i (Gudal dua
sllaadl Jial) aaml) a9 AR JB] Jaad A Aeadd) cillaaa a3 3
Optimum Service rate [ Liall deadl) Jara s .3
A 0 gl aladiuly dldy s i) Aaddl Jana slag) bty JSUial) (lany

s =avco*a/c
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